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Questions : 1

Which letter goes in the empty link?
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Ans: M

Starting from A alternate letters increase in steps of 2, the other letters, starting
from G increase in steps of 2.

Questions : 2

Which letter goes at the bottom?
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Ans: V
Starting at the top, letters move forward 2, 3, 4, 5 and 6 places.

Questions : 3

Which letter tops the third triangle?
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Ans: G

In each triangle the numerical value of the lower left letter increases by the value of the top letter

to give the lower right letter.

Questions : 4

Which letter completes the chain?
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Ans: C
Going clockwise letters move back 6 places then forward 2 places, etc.

Questions : 5

What letter should replace the question mark?

31iDii22!
121 M 13!
1511 2 110!

Ans: P

There are 15 letters before it in the alphabet, and ten after.



